Using Function Notation I

Task

Katy is told that the cost of producing x DVDs is given by C(x) = 1.25x + 2500. She is then asked
to find an equation for %, the average cost per DVD of producing x DVDs.

She begins her work:

C(x) _ 1.25x + 2500
X B X

and finishes by simplifying both sides to get:

1.25 + 2500
C=—F

[s Katy's answer correct? Explain.
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Commentary

This task deals with a student error that may occur while students are completing “Average Cost”.

Solution

Katy has made a common error. She has interpreted the function notation, C(x), as multiplication
notation. She thinks:

C(x C-x
o _c-x_.
X X

In this problem, C is a function that uses the equation C(x) = 1.25x + 2500 to assign to each
number x > 0 another number called, C(x). C(x) is the notation for the number that C assigns
to x, not the result of multiplying C and x.

As stated, Katy could have correctly answered this question with
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